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A. Complete the following sentences with the given words.(One word is extra.)
impossible / available / predict / photographic / matter / frequently /
1. A Chinese proverb tells us thatno ......... how tall the mountain is , it cannot block out the sun.
2. We tried to take the patient to the hospital early in the morning , but there was no taxi.........
at that time.
3. He saw the man for a short time , but now he can describe him easily.He hasa......... memory.
4. Do you know the answer for some at the most........... asked questions about the Internent ?
Seveiiiiinn doing homework , I clean my room and prepare dinner for my family.
225 | g, Change the words into the asked and appropriate part of speech.
1. Due to modern.......... (n.) and transportation systems , the world is getting smaller and
smaller.(communicate)
2. To me children start learning .......... (adj.) skills in their families from childhood.(society)
3.Heis.......... (adv.) right.(absolute)
4
C. Choose the best answer.
l.Tlam.......... surprised to hear that she has been fired because I think she was a very good
worker.
a) gladly b) rarely ¢) usually d) honestly
2. Many species of plants in the Amozon Forest provide ......... which are very helpful to man.
a) grades b) medicines ¢) risks d) patients
3. I believe that these problems........... simply because we didn’t have the means to solve them
in the past.
a) range b) exist ¢) describe d) compare




4. If successful , China would be the only country.......... France to discover the cure for this
disease.

a) because b) including ¢) however d) besides

5. Scientists have found that the human brainisten........... faster.......... thought before.
a) time — as b) times — than ¢) times — as d) time — than
6. We all know that seeking .......... is not an appropriate action for little . ........ to do , but

there are thousands of such examples in the continents of Europe , Asia , and Africa.

a) job — boys b) jobs — boy ¢) job — boy d) jobs — boys
7.1 can’t hear you at all.Please speak........ louder.

a) a lot of b) a few ¢) a little d) little

. S of my knowledge comes from watching Tv ; most of it has come from reading books.
a) much b) few ¢) a little d) little

Good Luck!
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